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Application_Grade-3_Measurement
Consolidation of Weight and Capacity

Which is more, 1 gram or 1,559 milligrams?

1 gram
1,559 milligrams

neither; they are equal

Convert:

1,000 grams = kilograms
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Which is more, 1,470 grams or 1 kilogram?

1,470 grams
1 kilogram

neither; they are equal

Which is more, 1 litre or 1,109 millilitres?

1 litre
1,109 millilitres

neither; they are equal
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Which is more, 1 kilolitre or 748 litres?

1 kilolitre
748 litres

neither; they are equal

Convert:

litres = 1 kilolitre
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